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587.18 cm?

(F99] Wol) = (¥F) x3.14x (F°l)
(11 x 3.14) x 17 = 587.18(cm?)




()= (€He] Hol) x (¥&0]) o]B=2
(¥ Hol)= (FH)+(x°l)
1077.02 + 7 = 153.86( cm?)
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(BYo]) = (5x5x3.14) x 2+ (5 x 2 x 3.14 x 10)
= 157 + 314 = 471( cm?)
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l:’ = (1073.88 — 508.68) + 56.52
— 565.2 + 56.52 = 10( cm)
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Eol=[ |=tstd

659.4 = TX7x314x2+2x7x3.14x[ ]
= 307.72 +43.96 x|

43.96 x| ] =351.68
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(F3e] Hol)= (B&el)- (B2 Hol) x2

=659.4 — (7x7x3.14) x 2

= 659.4 — 307.72

= 351.68(cm?)

(Eol)= (&9 Hol)+ (B 9F)

= 351.68 + 43.96 = 8( cm)
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TXTx314x14=10x10x3.14x|_|

2154.04 = 314 x|

[ ]=6.86 (cm)
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(@9l Wol) —(2R Eel)x (o))

= (15 x 2 x 3.14) x 40
= 3768( cm?)
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UF) = (133.6 -4 x 2) + 4 = 31.4(cm)
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(87159 &0]) = (FH9] A E) x20|E2
(A9 2]5) =14+2=7(cm)
&=

Hol) = (Z¥ol)x2+ (F4ol)
(3.5x 3.5x3.14) x 2+ (7 x 3.14) x 14
76.93 + 307.72 = 384.65( cm?)
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(W] 2] E) =31.4+3.14 = 10( cm)
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(TxTx314%x2)+ (4x3.14x4+14%x3.14x4)
= 307.72 + 226.08 = 533.8( cm?)
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